Math 372
Summer 2025
Exam 2, July 14

No books, notes, scratch paper, phones.

Please show all your work and clearly mark your answers.
Problems are 10 points each except as noted.

If a problem is too hard, move on to an easer one.

No Calculators on problems 1-9.
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1) Simplify:
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2) Graph
a)y= 6"
Scaic the y-axis from 0 to 50. Scale x appropriately.
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Scale the x-axis from 0 to 4. Scale y appropriately.
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3) Give a numerical approximation of e,
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4) Rewrite as a single log: (6 pts)

2ln(x) + 3in(y) - %ln(l 1)
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5) Find all solunon.s ol
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the interval (0. 10).
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6) Evaluate: (6 pts)
a) fogin(0.0001)
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b) log2(2v2)
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74) Rewrite with no root symbol and no fraction: (8 pts)
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b) Calculate (100)*?. Hint: Rewrite with root symbol and fraction.
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8) The function f{x) = x* - 9, on the interval [0, o)
a) Find the range,
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b) Find the inverse function of /.
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this inverse function.
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9) Find the equation of the line that goes through (3, 2} and (10, 7). Write vour m\u:wcr asa
function: /(x)

T e lto, 7) = :/g:
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¢) Find the domain and range o
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A) Find the amount of money obtained by investing $8.000 at 4.8% annual interest, compounded
monthly, for 3 years. (6 pts)

26

$ voo () + 2098 >
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B) Solve and write to at least 3 decimal places.
a) In(x)=3.89 (9 pts)

avsie A
b) logs(103.9)=x

4.22 7

c) 8= 0.229
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C) The value of a car is $44,000 when it is new. After 10 years, the value is $12.500.
a) Write a model of the form:
(D) = Aet
by solving for 4 and &.
b) When will the car be worth $23.0007
¢) What is the rate of change of value when the car is purchased?
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